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Module 5 EndModule SPAAssessment

Directions:Make sure to showall your work and complete each part.
Good lucklJ

Part I: Multiple Choice

_ 1. Whatis the volume, in cubic centimeters, of the figure below?
(5.MD.4)

= 1 cubic centimeter
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2. Which type of quadrilateral always has four right angles?
A. kite
B. rectangle
C.rhombus
D.trapezoid

3. Rashad is filling a toy box that are each a unit cube in size. He
filled the bottom layer of the toy box with 15 wooden blocks.
He then stacked two more wooden blocks on top of the

bottom layer. The partially filled toy box is shown below.
(5.MD.5a)

N

What is the total volume, in cubic units, of the toy box?
08p v
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4. Aswimming pool is shaped like ahigectangular prism. The
pool is 36 feet long and 20 feet wide. What is the total amount
of water, in cubic feet, needed to fill the pool to a depth of 4

feet? .mp.sb)
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5. Which type of quadrilateral can hawexactly 1 pair of parallel
sides?5.G.3)

A.rectangle

B.rhombus

C.square

D.trapezoid



—— 6. In his math class Clark used unit cubes to build a right
rectangular prism with a volume of 24 cubic units. The height
of the prism was two units. Which figureudd be the bottom

layer of the prism®.mp.3a
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__ 7. Which model shows one way to determine the area of a
rectangle that is— meter long and- meter wide?s.NrF.4a)
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_____ 8. Which of these figures a quadrilateral®.c.3)

A.triangle
B. trapezoid
C.octagon

D. pentagon
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____ 9. The figure below is made of unit cubesvp.4)

How many unit cubes need to be added to the figure so that it will

have a total volume of 12 cubic units?
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10. What is the area of the square belowRF.4a)
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_ 11. Jack used cubes to make the right rectangular prism below.
(5.MD.5a)

[ S S S S S S S

KEY

= 1 cubic inch

RN

He then maeé a smaller right rectangular prism usingf the

number of cubes. What was the volume, in cubic inches, of the
smaller right rectangular prism?

A.8

B.13
C.16

D.64

10



12. The area of a rectangular prism is 240 in2. If the height is 9
in, what is thevolume?s.Mp sy

The volume is in3.

13. What is the area, in square inches, of a rectangle with the
dimensions shown in the diagram belowitr.4x

—————— o~

Thearea is n

11



14. The two right rectangular prisms below havéferent
volumes (5.mp.53

B
A

KEY

= 1 cubic foot

Find the volume of each prism.

A= cubic feet B= cubic feet

What is the difference, in volume, in cubic feet, of the two
volumes?

Answer cubic feet

12
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Do Now

Which expression means the same as the phrase below?

Subtract 3 from the product of 8 and 5

A (5x8)+3
B (5x8)-3
C 5x(8-3)
D 5x(8+3)

NYS Math Review Packet 1

What is 0.1829 rounded to the tenths place?
A.0.2

B.0.19

C.0.18

D.0.184

14



! NYS MathReview Packel.: i

! Place Value, Decimts, and PEMDAReview |

1. A number is given below.

136.25

In a different number, the 6 represents a value which is one-tenth of the value of the
6 in the number above. What value is represented by the 6 in the other number?

A six hundredths

B six tenths
C six ones
D sixtens

2. Which expression is equivalent to 100,000?

A 104
B 10°
C 10°
D 10/

3. Which expression represents the phrase “4 times the sum of 9 and 6”?

A 4 < (9 + 6)
B 4x9+6
C 9+-6x4
D 9+ (6x4)

15



4. Which decimal best represents the location of point X on the number line

below?
X
«t——F—F—t—+—+—F—+—F+—+>
S0 60
100 100
A 05
B 0.55
C 056
D 06

5. Which decimal makes the number sentence true?

027 > _2
A 04
B 0.26
C 03
D 0.28

6. Which equation correctly shows the relationship between the numbers 2,560 and 256?

A 2,560 = 1,000 x (2 + 5 + 6)
B 2560 =10x(2+5+6)
C 2,560 = 10 x (200 + 50 + 6)

D 2,560 = - x (200 = 50 + 6)

10 16



7. Which expression is equivalent to 32?

A (30 +6) =3
B 2x(9+7)
C 9x(3+5)
D 6+2x4

8. The distance from Greg’s house to Tanya's house is % of a mile.

Greg's house @ ® Tanya’'s house

% mile

Which number correctly shows the number of miles as a decimal?

A 007
B 07
C 7.0
D 7.10

9. Which decimal is equivalent to i?

A 41.0
B 4.10
C 0.4
D 0.041

17



10. What is the value of the expression below?

8+ 24 +(2x6) -4

A 92
B 76
(&2
D 6

11.which expression is equivalent to 83,120 in expanded form using powers of 10?

A (8 x10% + (3 x10%) + (1 x10%) + (2 x10?)
B (8 x10%) + (3 x10% + (1x10%) + (2 x10?)
c (8 x10%) + (3x10%) + (1x109 + (2 x107)
D (8 x10" + (3 x10" + (1 x10") + (2 x 10"

12. What part of the expression below should be calculated first?
8+ {22 x [15+ (14 < 2)]}

A 8+22
B 22x15
C 14 x2
D 15+ 14

10



13. What number is equivalent to the expanded form shown below?

1 1
2%100) + (3 1) + |4 x —=| +{3 x ——
(2>100) + G x1) xm] [xwoo]

A 203.043
B 203.403
C 230.430
D 230.403

14. Which phrase is represented by the expression 5 x (36 + 9)?

A the product of 36 and 5, increased by 9
B the product of 36 and 9, multiplied by 5
C the sum of 36 and 9, multiplied by 5

D the sum of 36 and 5, increased by 9

1
15. The value of the digit in the hundreds place in the number 653,841 is 75 the value

of the digit in the thousands place in which number?

A 748,917
B 749,817
C 784,917
D 797481

19



16.what is the value of 0.1561 rounded to the nearest tenth?

A 0.15
B 0.16
C 01

D 0.2

17.The decimal grids below are shaded to model an expression.

What is the value of the expression modeled by the decimal grids?

A 3.29
B 332
C 410
D 413

18. which expression is equal to “add 10 and 32, and then multiply by 3"?
A 3x(10x32)
B (10+32)+3
C 3x(10+32)

D 3+(10x32)

20




19. point K is shown on the number line below.

K
*

<———tt——t—>
0.10 0.20

Which number sentence best describes the value represented by point K?

A K=>=013
B K<013
C K=015
D K=035

20. Which decimal makes this number sentence true?

058>
A 0.5

B 0.59

C 0.589

D 0.6

21. Whatis the value of the expression below?
40 +2+4+(2 x5)—8
A. 10
B. 26
C. 22

21
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Problem Set

Which number sentence is true?

A. 0.6 > 0.55

B. 0.5> 0.55

C. 0.5<0.04

D. 0.45 > 0.46

Which expression is equivalent to 62,3407

A. (6x10°) + (2 x 10%) + (3 x 103) + (4 x 10?)

B. (6x10°) +(2x10% + (3 x103% +(8x 10"

C. (6x10%) +(2x 103 + (3 x10%) + (4 x 10"

D. (6 x 10°) + (2 x 10%) + (3 x 10%) + (4 x 10)

The value of the digit 4 in 24,601 is how many times greater than the
value of the digit 4 in 4377

A. 1

B. 10

C. 100

D. 1,000

22



Application Problem

Which expression has the same value as 743.2167
A (7x100)+ (4x10)+ 3x1)+ (2x10)+ (1 x100) + (6 x1,000)

B. (7x100)+ (4x10)+ (3x1)+ (Zx%)+ (1961—10)+ (65’5%)

C. (7x100) + (4x10) + (3x1) + (2xi)+ (1xL)+ (6x ! )

100 1,000 10,000

D. (7x100) + (4x10) + (3x1) + (le—lo)+ (1xﬁ)+ (69’“@)

Exit Ticket

Light from the Sun can travel a million miles in 5.368 seconds. How many
seconds is that, rounded to the nearest tenth of a second?

A 5.36 seconds
B 5.37 seconds
C 5.3 seconds

D 5.4 seconds

23
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Do Now

What is the value of the expression below?

O N =W »

57
64
65
68

1,536 + 24

25



th Grade Mathematics Reference Sheet

1 cm= 10 mMm
1, 000 ni

1 m= 100 cm
liters

Im= 1,000 mm

1km = 1,000 m
5,280 ft

yd
1 g=1,000 ng
1 kg = 1,000 g

1lb = 16 oz
1 ton = 2,000 IDb

1 cup = 8 fluid ounces
60 mn

1 pint = 2 cups
hr

1 quart = 2 pints
nont hs

1 gallon = 4 quarts
days

1liter =

1 kI = 1,000

1 mle = 1,760

1 ft =12 in
1 yd =3 ft
1 yd=361in

1 mn = 60 sec

1 hr =
1 day = 24
1 year = 12
1 year = 365

1 week = 7 days

1 nonth = 31, 30, or
28 days

26



| NYS Math Review Packét i
I Word Problems and ConversidReview I

1. What number goes in the blank to make the statement below true?

3,840 ounces = pounds
A 24
B 240
C 480
D 61,440

2. Lincoln had 2 books in his backpack. One book had a mass of 3 pounds 7 ounces, and
the other book had a mass of 2 pounds 10 ounces. What was the total mass, in ounces,
of the books?

A 60
B 77
C 80
D 97

3.Christopher wants to buy a notebook for $2.15, a pack of glue sticks for $5.08, and a
pack of pens for $3.08. What is the total cost of the three items Christopher wants
to buy?

A $10.75
B $10.31
C $10.23
D $10.11

27



4. Michele is 52 inches tall. Her father is 6 feet 3 inches tall. Exactly how many inches
taller is Michele’s father than Michele?

A 11
B 13
Cc 23
D 25

5. A box contains 512 grams of cereal. One serving of cereal is 56 grams. How many
servings of cereal does the box contain?

A

w

(@]
©
‘m $|oo W= A=

%
—
M

0. Nellie has a watering can that contains 20 cups of water. She pours one quart of water
on each plant in her yard. If Nellie uses all of the water in the watering can, how many
plants does she water?

A 4
B 5
C 10
D 80

28
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